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All Candidates' performance across questions

N Mean S D Max Mark F F Attempt %Question Title

475 3.4 1.9 5 67.6 99.41

477 6.5 2.6 10 65.4 99.82

478 3.1 1.5 5 62.8 1003

473 5.7 2.3 10 56.6 994

478 5.6 2 9 61.8 1005

477 6.7 3.7 13 51.4 99.86

478 7 3 11 63.7 1007

475 3.7 2.1 8 46 99.48

472 2.7 2.4 9 30.1 98.79

445 1.7 1.7 6 28.9 93.110

408 6.1 4.2 14 43.4 85.411
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Mark Comment 


1. (a) 45000 ÷ 9000 


      5 (days) 


(b) 60 ÷ 4 


15 (seats) 


(c) (i) 9000 × 4            or  9000÷15          or 15 × 60 


     36000 (secs)           or  600                  or 900 


36000 ÷ (60 × 60)       or 600 ÷ 60           or 9000 ÷ 900 


10 (hours) 


 


(ii) Appropriate explanation eg “time moving between 


seats”, “ having to eat”, “ taking a comfort break”, 


“Might be people in the way”, “time may not be 


accurate”, “General health of celebrity may not be up 


to the challenge”, “Weather might have an impact”. 


 


(d) 1/3 × 180000 


  (£) 180000 - 1/3 × 180000 


 (£) 120000 


M1 


A1 


M1 


A1 


M1 


A1 


m1 


A1 


 


E1 


 


 


 


 


 


M1 


m1 


A1 
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Mark final answer. 


FT “their 15”                                 


                                 


FT “their 36000” or “their 600” or “their 900”  


 


 


 


 


 


 


 


 


Sight of 2/3 × 180000 implies M2 












Sticky Note

A correct response in (a).



Sticky Note

Unfortunately this candidate does not have a strategy  to calculate the angles for the spinner, looking at proportions without an interpretation.












Sticky Note

A correct response.



Sticky Note

As there are 4 numbers, all the candidate has done is split the spinner in four.  This is incorrect, as the candidate has ignored the probabilities.












Sticky Note

A correct response.



Sticky Note

The angles of the piechart have been calculated correctly.



Sticky Note

However, the pie chart has not been labelled correctly.
Hence 3 marks are awarded out of the 4 possible marks.












1.	 Vintage Games makes board games such as snakes and ladders.


	 Vintage Games decides to make a biased spinner to include with their board games.
	 The spinner is numbered 1 to 4.
	 The probability of scoring each of the numbers has been decided.


Number 1 2 3 4


Probability 0·1 0·3 0·4 ........


	 (a)	 Complete the table.	 [1]


	


	 (b)	 An outline of the biased spinner to be made by Vintage Games is shown below.
		  The centre of the spinner has been marked.
		  Using the information in the table, complete an accurate drawing of the biased spinner.
		  You must show your working.	 [4]
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Sticky Note

The calculation required is 596.7 multiplied by 2.59.
Unfortunately this eases the answer for writing correct to 3 significant figures.
No marks are awarded.







Sticky Note

The candidate has shown no working, such as the North lines on the diagram.  
So no marks for this incorrect response.



Sticky Note

A correct response.  A reasonable assumption.



Sticky Note

Again, the candidate has the incorrect operation, multiplication is required.
A mark could have been given for writing their answer in standard form, but this was not done correctly.
Hence, no marks are awarded.












Sticky Note

An incorrect operation, should be multiply.
The response eases the value to be written correct to 3 significant figures, so no marks are awarded.







Sticky Note

A correct response.
The candidate shows working including the North lines.



Sticky Note

A correct assumption.



Sticky Note

Although the candidate has seemed unsure, they have settled on the correct solution.
If working is crossed out and replaced, it is the replaced working that is marked.












Sticky Note

A correct calculation.
However, incorrect place value in writing correct to 3 significant figures.







Sticky Note

Although the answer is incorrect, the candidate has marked centres, drawn North lines and even indicated the angle to be measured, hence M1 is awarded.



Sticky Note

A correct response.



Sticky Note

A correct calculation and answer, but not written in standard form correctly.
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Sticky Note

A correct response.



Sticky Note

A correct response.



Sticky Note

The candidate says why it may not be true and explains how to improve the estimate.







Sticky Note

This arc is correct, B1



Sticky Note

No perpendicular bisector between P and Q, B0



Sticky Note

Not a similar region, B0












Sticky Note

A correct response.



Sticky Note

A correct response.



Sticky Note

This is why it may not be true.



Sticky Note

This is how it could be improved.







Sticky Note

A choice is given, an arc and straight lines, hence the wrong response is marked from the two options.  B0



Sticky Note

The perpendicular bisector is just within tolerance.



Sticky Note

Not a similar region, including an arc, hence B0












Sticky Note

An incorrect strategy.



Sticky Note

A correct response.



Sticky Note

States the issue, but not how to improve the estimate.







Sticky Note

No strategy, no marks.












5.	 Fisher Tours has a new coach.


	 (a)	 On Sunday, the coach took 45 passengers on a trip to the zoo.
		  The ratio of men to women to children was 2 : 3 : 4.
		  How many children were on the coach?	 [2]


	


	


	


	 (b)	 The coach has 47 seats for passengers.
		  Fisher Tours recorded the number of passengers on the coach every day during one


week in the summer.
		  Fisher Tours says that this is typical data for any week in the summer.


Sunday Monday Tuesday Wednesday Thursday Friday Saturday


Number of
seats


occupied
45 30 40 38 34 38 41


	 (i)	 For a trip on a Thursday in the summer, calculate the best estimate of the probability
that a seat on the coach, selected at random, would be empty.	 [2]


	


	


	


	


	


	 (ii)	 One summer’s day, Gareth says,


		  ‘If this is typical data then there should be 7 empty seats on the coach next
Tuesday.’


		  Explain why this is not true and how Fisher Tours could improve the way they
estimate the number of seats that might be empty each day.	 [2]
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	 (c)	 When Fisher Tours takes a coach trip to the zoo they must follow instructions for parking.
		  An accurate scale drawing of the entire coach-parking zone at the zoo is shown below.
		  Fisher Tours has been allocated a parking area within this parking zone.


Scale: 1 cm represents 4 metres


		  The instructions for parking are as follows:
	 •	 Must be further than 12 metres away from point A at the ice-cream kiosk.
	 •	 Must be closer to the lamp post Q than to lamp post P.


		  Indicate, on the scale drawing above, the region in which Fisher Tours can park their
coach.	 [3]


Ice-cream
kiosk


P
A


Q












Sticky Note

Correct.



Sticky Note

Correct.



Sticky Note

The issue is stated and how to improve.  Hence E1, E1.







Sticky Note

A correct response.
























